Приложение№2
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Kaprouka Ne3 KBagpaTHble ypaBHEHUS
Bapuant No2

Bapuant Ne2
Cxema peleHust THHEHHbBIX YpaBHEHMI:
1.2x+4=12 2.3 2x-1)=4x+7
2x=12-4 6x-3=4x+7
2x=8 6x-4x=7+3
x=8:2 2x=10
x=4 x=10:2
x=3

Penurte caMocTOSATENBHO:
L3x-6=1,2

2. 5x+2=4x-1
3 3

3.4x-2-(2x-1)=2
4. 4x+1=3 (x+1)
5.§x L
8 3
6. 3x=5x
7.6x-11=2,8
8. 9-(7x-1)+9x=17
9. 5x-1=4 (x+1)
10. 5x=7x

CxeMa peleHus KBaIpaTHBIX YPaBHEHHIA:

sz-fx-io

a=3 6=-5 c=-2
D=b’-4ac D=(-5)>-4*3%(-2)=25+24=49=7"

X7 X7
2a 2%3 6 3
B G
Xor— Xor— =—=2
a 2%3 6

PeLHI/ITe CaMOCTOSATEIIBHO:

1. x*=81

2. x°-16=0

3. T2
4. 5%*-16x+3=0
5. x>-10x+25=0
6. x*-x-20=0
7. 3x%-22x+7=0
8. x*+8x+1=0
9. x*+x-30=0

10.x°-x=0
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